YPICAL TOP 2" HEX HEAD SCREWS PER BRACKET
=1 - ADJUSTABLE SLIDE BRACKET IS
E%)MP}IERE?AL(M'II'gg RALLER >~ SECTION J ASSEMBLED W/(2 5/16° x 3/4* BOLT
o BRACKET ATTACHED W/(4> J & NUT PER BRACKET.
©6/006 174" x 1’ HEX HEAD ° MODEL 2400
] g SCREWS PER BRACKET 14 GA, (MIN) END HINGE ROLLER CARRIERS 24 Gh. (022" MIND .
> S5° X 18 GA R-TRUSS ' AEX HEAD SCREWS” £ACH ' OR MODEL 2000
ATTACHED W/¢6) 1/4* X 1° HEX 20 GA €034 MIN> . ) 55 X 18 GA. R-TRUSS ON EACH
HEAD SCREWS 2 DR 3* 10-BALL STEE PREPAINTED STEEL SECTION ATTACHED ON TOP FIXTURE
AT EACH END (3) PER STILE AND ROLLERS V'B T'- EEL LONG STEM W/(6) 1/4° X 1* HEX HEAD SCREWS
W/(@) 1/4* X 1° HEX HEAD R REaneD {HEETSAINERS USED FOR NON AT EACH END (3> PER STILE AND
SCREWS AT EACH CENTER STILE 2¢ DR 3° 10-BALL STEEL LONG STEM ) W/(@) 1/4° X 1 HEX HEAD
ROLLERS W/ RETAINERS USED FOR NON - SCREWS AT EACH CENTER STILE
THREADED SHAFTS
(1> 55 X 18 GA. R-TRUSS ATTACHED TYPICAL - ] 1> 55° X 18 GA, R-TRUSS ON EACH
W/(4> 174" X 1° HEX HEAD SCREWS INTERMEDIATE \"5 SECTION ATTACHED
AT EACH END (2 PER STILE AND SECTION 3 W/¢4) 1/74* X 1° HEX HEAD SCREWS

(2) 12 GA. COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(4) 1/4° x 1’

e tor s (7)) sovest 5 B 452 Ty ETen @0 e
LA |:\) G E M l S S I_E ) SCREWS AT EACH CENTER STILE
1 = RRgLeeme(3) . IMPACT RESISTANT

: ' /. )
A'A A f g . 0.0 14GA. (MIN.) CENTER O |

HINGE ATTACHED———
W/(S) 1/4° x 1¢ [

HEX HEAD SCREWS

(@) 14 GA. (MIND
END HINGE ROLLER CARRIERS

ATTACHED W/(5) 1/4° x 1’
HEX HEAD SCREWS EACH
TYPICAL BOTTOM LA
SECTION
1

1> 3 X 20 GA. STRUT ON BOTTOM
SECTION ATTACHED

W/@ 174" x 1" HEX HEAD SCREWS X'I‘/ (E:«Cll-f“ENg ée)HEéRHg??Lé CENEBJ s
AT EACH CENTER STILE W3 1/4° X 1¢ HEX HEAD

.|- : . . NE JSCREVS AT EACH CENTER STILE

OTTOM BRACKET 11 GA. ATTACHED
CONT. ALUM EXTRUSION WITH

557 18GA R-TRUSS ATTACHED

W/(8> 174" X 17 HEX HEAD SCREWS

24" Max Rl : 4 NTTYSP ICAL CENTER HINGE @ CONT. VINYL ASTRAGAL\
SECTION HEIGHT ] - SECTION A—A (SIDE VIEW)
: : = : NTS.
4 ” 4 g REV | DESCRPTION OF REVISIONS DA [BY
A
BOTTOM BRACKET
16'-p* 11 GA. (MIN> ATTACHED e 3
. Hex HEAD SCREWS MAX SIZE | &3 IECCRUNS N
INSE ELEvATION © ¥ 32T ey AL o
" e Lo e 2 B D s AT
SCREWS AT EACH CENTER STILE DES\L}?N2 I.’)(')Sf'?:DS rE ;* . J‘ £
+31. o S
S L S | S | g8 :
(3> 19 GA. CENTER STILES S/16" x 1 5/8° LAG TEST LOADS | 55 ¢ : g
SCREV_ () PER USED FOR NON THREADED 5% hf =LA g
ATTINTS 08 RIVESS AT Ve, JAMB BRACKET SHAF TS T | £5 b L. 858251 {tg: J =
JAMB SEAL T®> CLINCHED JDINTS DR <1) 1/4-20 x S5/8°TRACK . 53 " %A '<"CENS€° \\Q’ Z g
OPTIONAL RIVETS 10 FRONT SKIN SPLICE BOLT AND NUT PER LARGE MISSLE| 25 \8s; o&“ N =
19 GA. GALV. STEEL END STILE R ARASET MPACT | £3 W \\’i’i\'\‘ 5
Oh, CALY. STEEL END STLLE \ _ 2 DR 3 10-BALL STEEL TYPICAL BOTTOM BRACKET, 4 RESISTANCE | 2 2 2
JOINTS AT THE_TDP AND (2> AT . Y LONG STEM ROLLERS NTS. 2 TX 5
THE BOTTOM RAIL ! ' w7 RETAINERS USED FOR NON
- 12 ca END HINGES 14GA (MIN.) THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE
TAPERED REVERSE ANGLE PROCEDURES DESCRIBED IN ASTM E330, E1886, E1996, & F588, DASMA
YERSE S W\ ~ zoer o 1108 g 115. THE PRESSURES SHOWN ON THE DRAWINGS WERE arr,
(D 19 GA GMIN> GALV. COMMERCIAL PRy A CALCULATED USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS :
ENDSTILE ATTACHED WITH ATTACHED B XIS GA (5 FEET OF DOOR WIDTH IN END ZONE, ROOF LESS THAN 10 DEGREES
AND ¢ BATTOM II??CK MOUNTING DETAIL SLOPE, AND 1=1.0): MODEL 2400 AMARR 2402, 2412, 2422
‘WIND _SPEED (MPH) [ 151 | 137 | 130 | 124 | 119 MODEL 2000 AMARR 2002, 2012, 2022
EDGE OF DOOR 1" OVERLAP ON EACH SIDE EXPOSURE LEVEL B C C D D S'éf RAWEY RR| ONE_S/31/6 - ?i?éc_ﬁ'ﬁ%
MEAN ROOF HEIGHT| 30 | 15 | 25 | 15 | 25 WOD B RR| T ya/s
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 1 OF 3




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITW BUILDEX 1/4°-14 12 GA. OR 3/16° 1/8* NOM X 1 LONG /47 LONG TACK 2000 PSI MIN. SIMPSON STRONG-TIE 2000 PSI MIN, SIMPSON  STRONG-TIE
X 3/4" SELF-TAPPING STEEL (SEE BELOW) FILLET WELD (E60xx t/EL.D SAME SgACING CONCRETE 3/8'¢ WEDGE-ALL CONCRETE 3/8’¢ SLEEVE-ALL
SCREWS (TEKS) ELECTRODES MIND AS FILLET WELD EXPANSION ANCHOR WITH EXPANSION ANCHOR WITH
: 7/8°¢ WASHER, 1-3/4°MIN, 7/8'® WASHER. 1-3/4"MIN,

«| EMBEDMENT

<| EMBEDMENT

ISX

I 2-5/8° THICK
WALL MIN.
<15 x EMBEDMENT)

2-5/8" THICK
WALL MIN,
(1.5 x EMBEDMENT>

P STYLE REVERSE ANGLE MOUN W . ,
BRACKET, CONTINUOUS AND TAPERED ANGLE ~ REVERSE ANGLE MOUNT SHOWN ‘stﬁ“ﬁc?“ “gxs?mcEDGE
MOUNT AVAILABLE BRACKET, CONTINUOUS AND
TAPERED ANGLE MOUNT AVAILABLE CLIP STYLE CONTINUDUS ANGLE MOUNT SHOWA NTINUOUS. ANGLE. MOUNT S
12 _GA. STEEL FRAMIN BRACKET, REVERSE AND TAPERED ANGLE MOUNT
FROM ENDS AND 10° O.C. 1590 LBS./IN, ALLOWABLE LOAD - MOUNT AVAILABLE
REFER TO NOTES: 1, 2 AND S 67 FROM ENDS AND 24° O.C, 00 PSI CONCRETE 0OR GREAT ‘
’ NCRETE OR GREATER
, REFER TO NOTES: 1, 2,5, 6, 7. 8 351 LBS./EXPANSION ANCHOR ALLOWABLE LOAD - e R I R R VABLE
2/16° STEE. FRAMING . 67 FROM ENDS AND 16" O.C LOAD — 6% FROM ENDS AND 16 O.C.
D M ENDS iy ALLOWABLE LOAD - 6 REFER TO NOTES: 1, 2, 3, 4 AND 5 REFER TO NOTES' 1, 2, 3, 4 AND 5
REFER TO NOTES: 1, 2 AND 5 NATES SPECIFICATIONS AND NOTES
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
1. ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
FLOOR THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
' TRANSFERRED FROM THE DOCR.
2. FIRST (BOTTOM> ANCHOR STARTING AT NO MORE THAN HALF OF 2. EACH VERTICAL JAMBS RECE!VES/MAXIMUM DESIGN LOADS OF:
THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR +252.2 LBS/FT AND —285.3 LBS/FT
INSTALLED AT LEAST AS HIGH AS THE DOOR DOPENING. 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED
. AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
3. MIN. EGDE DISTANCE OF 37 REQUIRED. 4, DOOR SECTIONS SHALL BE 24 GA. (.022) MIN. EXTERIOR SKIN

WDDD JAMB ATTACHMENT TD STRUCTURE (DPTIDNAL) 4, USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER. ROLLED FORMED, GALVANIZATION W/ BAKED ON POLYESTER FINISH

5. DOORS UP TO 24" HIGH USE (1) 5 1/2" R—TRUSS ON EACH SECTION

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE S. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A AND (1) 3" STRUT ON BOTTOM SECTION
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 18" O.C. (I 1/2" EMBEDMENT) REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
ADDITION TO OTHER LOADS. BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCRETE
HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT) 6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL, USE ALL INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 16" 0.C. (1 1/4" EMBEDMENT,
lTW/RAMSETREDHEAD(TRU-BOLT)3/8"X4"STARTING6"FROMENDSTHE;ZA"O.C.(21/2"EMB)EDMENT) NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL. REV | DESCRPTION OF REVISIONS DATE By
2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK 7. ALL. WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER INTERIOR OF GARAGE A
SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO
3" APART) AT 8" O.C. (1 12" EMBEDMEN )
(HILT11/4"X2-3/4"KWIK-CONII+SCREW?STARTING6"FROMENDS,USEPAIRSOFFASTENERS VERIFY THE INTEGRITY OF THE WELD. MAX. WIDTH 160 MAX SIZE | =@ 5
(3" APART) AT 8" 0.C. (1 1/4" EMBEDMENT) 8. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE 162 x 24' | &8 A S N
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT) SURFACE. §§ ‘_—“}\E OF TE *\\\‘ 2
HILTISLEEVE ANCHOR 38" X 2-3/4" STARTING 6" FROM ENDS THEN 20" O.C. (1 1/4" EMBEDMENT) 9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT E— "'——“' Wi APy g
(OF, USE FASTENERS FOR HOLLOW C-90 BLOCI) ROTATION OF TRACK ANGLE. pesioN Loaps [} { L H [ I T 1] 1] DESIN LoADS| X 2 @ RO 8
== . . [4]
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE, A FLUSH MOUNTING SURFACE. +252.2 LBS/FT SEE NOTE 2 +31.2 PSF | =i : ®
*PREPARATION OF WOOD JAMBS BY OTHERS —285.3 LBS/FT -35.3 PSF | & :‘3’
v
TEST LOADS | £ (eg
. STRUCTURE STRUCTURE TRACK CONNECTION TO WOOD JAMB OPTIONS Tasoper | EE z
z _ _ 2 c
§ FOR LAG SCREWS & BRACKET SPACING SEE TABLE 2 ON PAGE 3 f‘% 2
: | \ ;
x 3
& <| <} , 14 1 RESISTANCE | 55 Q
1 l“ £5 S
wn

] 'I" \_ -—l—
- 2X6 JAMB
1/2° MIN pey 2-3/4* MIN

HOLLOW

BLOCK GROUTED r

STRUCTURE g%ggé‘mw gl arr

\ » \
T T L‘J:I MODEL 2400 AMARR 2402, 2412, 2422
| BRACKET MOUNT CONTNUOUS ANGLE MOUNT REVERSE ANGLE MOUNT MODEL 2000 AMARR 2002, 2012, 2022
1-1/2° MIN 4 5/16° x 1 5/8° LAG SCREW (1 o6 WOOD JAMB SYP SZE| DRAWNBY  RIR| DATE 5/31/16 DRAWING NUMBER
37 MIN PER JAMB BRACKET (1-1/2 (NO.2> OR BETTER (TYP) B ek BY RIR| DATE 5/31/16 IBC-2416-150-264
EMBEDMENT MINIMUMY (TYP.) SRR
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 2 OF 3




TABLE 1

Center Stile Locations
Section |(Measured from Left Edge)
Width (ft) 1st 2nd 3rd

(in) (in) (in)
9 4" 36" 76" -
g 6" 37" 77" -
9 8" 38" 78" -
9 | 10" 39" 79" -
10| 0" 40" 80" -
10| 4" 42" 82" -
10'] 6" 43" 83" -
10| 8" 44" 84" -
10' | 10" 45" 85" -
11| 0" 46" 86" -
11| 4" 48" 88" -
11'] 6" 49" 89" -
11" 8" 50" 90" -
11| 10" 51" 91" -
12" 0" 48" 96" -
13'| 0" 36" 78" 120"
13'| 4" 38" 80" 122"
13'| 6" 39" 81" 123"
13'| 8" 40" 82" 124"
13' | 10" 41" 83" 125"

14" 0"

14" 6" 45" 87" 129"
141 8" 46" 88" 130"
14" 1 10" 47" 89" 131"

1 5| 0"

16" 6" 51" 93" 135"
15" 8" 52" 94" 136"
151 10" 53" 95" 137"
16'| 0"

48" 96" 144"

*FOR WIDTHS 12'—2" TO 12'-10" CONTACT ENGINEERING FOR STILE PLACEMENT

TABLE 2

DOOR TRACK ATTACHMENT TYPICAL
HEIGHT SPLICE

m

. a7 94 R
lllﬂlﬂﬂIEIIEIIEII@IIEIIWIIEIIﬂllﬁﬂlﬂﬂlmﬂlﬂﬂIHHIIIIIIIIIIllllllllllllllllllﬂﬁ.l

14 GA. (MIND FLAG BRACKET
ATTACHED TO wOOD JAMB

W/¢3> 3/16 DIA. X 1-5/87 LAG BOLTS
AND TO TRACK W/<4)> 1/4°~20 x 5/8°
TRACK SPLICE BOLTS AND NUTS J

BY

Q) L
// ] REV | DESCRPTION OF REVIIONS DATE

13 GA. SPLICE BRACKET ATTACHED
TO wOOD JAMB W/ (1> 5/16 DIA. X

N

-5/8" LAG BOLT AND TO TRACK W/
v (4> 1/4’-20 x 5/8" TRACK SPLICE
BOLTS AND NUTS

MAX SIZE
16'2 x 24

(1> 5/16" DIA. x 1-5/8°
————LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

DESIGN LOADS

AL

- 2
—=m
;
23 g
::ei 5
I.IJ:: —
a =]
<E 2
+31.2 PSF | E& 2
_ = @
12 GA, GALV. STEEL i 35.5 PSF 5E s
JAMB BRACKETS TEST LOADS | £& <
ATTACHED W/(1> 1/4°-20 x 5/8° PLICE TRACKS W/ (4)-20 = U2
TRACK SPLICE BOLTS & +46.8 PSF | 5 ¢ £
TRACK SPLICE BOLT & NUT | ac 530 PsF | E8 >
o2 c
2" (083 MIN.) OR 3" (12 GA. | :’ 5 §
TRACK ATTACHMENT CAN BE BRACKET MIN) VERTICAL TRACK LARI?AE’ :’(': ?S'-E 2T S
MOUNT, CONTINUOUS, REVERSE ANGLE EE o
MOUNT OR TAPERED REVERSE ANGLE = Gl RESISTANCE | o 3 2
MOUNT. (SEE AVAILABLE TRACK ] £ = ] 3
CONFIGURATIONS ON THIS PAGE) g |5 5 3 n
ALL TRACK BRACKETS AND TRACK g |2|p & g 2
CLIPS ARE ATTACHED TO TRACK a ' -] T
WITH (2 RIVETS OR <) 1/4°-20 A (& 5 £ z
BOLT & NUT £1ih I 7 8 a”‘
ALL TRACK BRACKETS OR TRACK
3‘%. i CLIPS ARE TO FOLLOW SPACING AS
'_-’— INDICATED
m ﬂ MODEL 2400 AMARR 2402, 2412, 2422
TRACK CONFIGURATION FOR UP TO 24° TALL DOORS L] MODEL 2000 AMARR 2002, 2012, 2022
SEE TABLE 2
AVAILABLE TRACK CONFIGURATIONS SZE| DRAWN BY  RIR| DATE 5/31/16 DRAWING NUMBER
N.T.S.
B | coeckeosY RIR| DA 5/31/16 [BC-2416-150-264
ENTREMATIC
165 CARRIAGE CDURT WINSTON-SALEM, N.C. 27105 SHEET 3 OF 3




